NPN SILICON TRANSISTOR
9013
|
4 100mm
C043BJ-00
240+20um
430x430pm?
B  107x107um?* E  101x101pm?
SS9013 H9013 8050S
B T=25 TO-92
Teg— -55~150
T— 150
Pe—— 625mW
Veso — 40V
Vo — 20V
Vego—— — sV
l— 500mA
| | T=25 TO-92
lceo — 0.1 A | V=25V =0
leso — 0.1 LA | Ves=3V 1c=0
hee 80 390 Vee=lV  1c=50mA
40 Vee=lV  1c=500mA
V ce(sat — 0.6 V | 1c=500mA 15=50mA
Vge(sat) — 1.2 V | 1c=500mA 15=50mA
Vge(on) — 0.6 0.73 V| V=1V 1c=10mA
BVceo — 40 V | 1c=100pA 1g=0
BV ceo — 20 V| lc=1ImA 1g=0
BVeso — 5 V | 1g=100pA  1c=0




